normalized X?

he
Enies 1339146
107! Mean 0.9847
Std Dev 09793

he
_[Ermes — 1339100
Mean 0.9846
E Std Dev 0.979

I chi2
1073 Entries 1325755
Mean 0.982

< x2/ndf >

< x2/ ndf >

<dpp. > (%)

Std Dev 0.9669

[ normalized x? probability |

chiz_prob
E Entries 1339146
Mean 05798
0.04 Std Dev 0.3124
Thiz_pro
0.035 Entries 1339100
Mean 05798
0 03 Std Dev 0.3124
chiz_prob
0.025 - [Entries 1329755
Mean 058
Std Dev
0.02 -
0.015
0.0:
0.005
o B
=1
©
o

o 0 2 4 6 8 10 12 14 16 18 20 0 0 010203040506070809 1
X? Prob(x?)
Y —~ 5
L 8
o A
1.8: o 4
1.6F- o
L L=l
1.4~ [ === DQM_V0001_R000000001__Global_mkFit10000__RECO
[ | === DQM_Vv0001_R000000001_Global_mkFit1000_ RECO
1.2ff- [ === DQM_v0001_R000000001_ Global_mKFit1000ATime_ RECO o
I~
0.8
0.6f-
+ ie]
3
o
0.95 . . . . .
3 -2 -1 0 1 2 3
n
3r A
3 5
: =
2.5 o
L >
o v
Re]
3
14

1072

-1
AR(track, jeltS)



	Contents
	Page 1


